

COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS AGENDA ITEM REQUEST FORM

The Board of County Commissioners meets the 1st and 3rd Thursday of each month at 5:30 p.m. in the Columbia County School Board Administrative Complex Auditorium, 372 West Duval Street, Lake City, Florida 32055. All agenda items are due in the Board's office one week prior to the meeting date.

Loga	ıy's Date:	5/25/2021	P	weeting Date:	6/3/2021				
Name:		Kevin Kirby		Department:	Public Works				
Divis	ion Manage	r's Signature:	KK						
1. Na	ture and pu	rpose of agenda item:							
	Realign NI	E Thomas Camp Road in e	ffort to straighten the	existing curve.					
2.	2. Recommended Motion/Action:								
	Approve re	ealignment of NE Thomas (Camp Road						

3. Fiscal impact on current budget.

This item is currently budgeted. The account number to be charged is 303-8082-541.30-46

District No. 1 - Ronald Williams

District No. 2 - Rocky Ford

District No. 3 - Robby Hollingsworth

District No. 4 - Toby Witt District No. 5 - Tim Murphy



BOARD OF COUNTY COMMISSIONERS • COLUMBIA COUNTY

MEMORANDUM

TO: David Kraus, County Manager

FROM: Kevin Kirby, Assistant County Manager / 2

DATE: May 24, 2021

RE: Thomas Camp Road Realignment

Attached you will find a map that indicates the proposed realignment of NE Thomas Camp Road in effort to straighten the existing curve.

In-kind services for clearing and grubbing will be performed by Public Works at an estimated cost of \$27,845. The estimated cost for surveying and flagging is \$9,000 and will be paid from the Annual Resurfacing account 303-8082-541.30-46.

Your consideration is appreciated.



Columbia County Property Appraiser Jeff Hampton | Lake City, Florida | 386-758-1083

PARCEL: 10-2S-17-04698-001 (23932) | IMPROVED AG (5000) | 29.86 AC

BEG 80 YDS WEST OF NE COR OF NW1/4 OF NW1/4, RUN W 750 FT, RUN S TO THE S LINE OF NW1/4 OF NW1/4 TO A PT 990 FT W OF SE COR OF NW1/4 OF NW1/4, RUN E A

2021 Working Values THOMAS KYLE CORDELL Owner: 9269 NE THOMAS CAMP RD Mkt Lnd \$8,600 Appraised \$129,766 Ag Lnd LAKE CITY, FL 32055 \$11,486 Assessed \$97,206 9269 THOMAS CAMP RD, LAKE Bldg \$108,480 Exempt \$50,000 CITY **XFOB** \$1,200 county:\$47,206 Sales \$100 \$100 Total city:\$0 other:\$0 \$192,466 Just Info 9/15/2004 Taxable school:\$72,206



This information, was derived from data which was compiled by the Columbia County Property Appraiser Office solely for the governmental purpose of property assessment. This information should not be relied upon by anyone as a determination of the ownership of property or market value. No warranties, expressed or implied, are provided for the accuracy of the data herein, it's use, or it's interpretation. Although it is periodically updated, this information may not reflect the data currently on file in the Property Appraiser's office.

GrizziyLogic.com

Total Property:

2 acres

	Quantity	Units	Unit Cost		Total	
Lowboy	4	per hour	\$	89.21	\$	356.84
Bull dozer	20	per hour	\$	56.06	\$	1,121.20
Excavator	20	per hour	\$	70.46	\$	1,409.20
Front End Loader	20	per hour	\$	77.06	\$	1,541.20
Motor Grader	16	per hour	\$	87.76	\$	1,404.16
Dump Truck	24	per hour	\$	92.16	\$	2,211.84
Crew Truck	40	per hour	\$	31.16	\$	1,246.40

Total: \$ 9,290.84

Materials

Borrow	1200	CY	\$ 8.00	\$ 9,600.00
Limerock	782	Ton	\$ 11.45	\$ 8,953.90

Total: \$ 18,553.90

Project Estimate: \$ 27,844.74

Charyll Bradley

From:

Dennis Price <den1@windstream.net>

Sent:

Wednesday, April 28, 2021 9:54 AM

To:

Chad Williams

Subject:

RE: <No Subject>

\$200 for visit, \$800 to flag.

Dennis

----Original Message-----

From: Chad Williams [mailto:chad_williams@columbiacountyfla.com]

Sent: Wednesday, April 28, 2021 9:04 AM To: Dennis Price <den1@windstream.net>

Subject: RE: <No Subject>

Do you have an estimated cost to flag?

Thanks Chad

----Original Message-----

From: Dennis Price <den1@windstream.net>

Sent: Tuesday, April 27, 2021 6:30 PM

To: Chad Williams <chad_williams@columbiacountyfla.com>

Subject: <No Subject>

I kept forgetting to tell you I checked the forestry road for wetlands.

There is a ditch, very narrow across the proposed road. There is also a narrow wetland created by the National Forest to access the boundary line.

Created by whatever they used the clear the right of way. Neither should pose a problem but needs flagging.

Sent from my iPhone

Charyll Bradley

From:

sdaniel dgsurveying.com <sdaniel@dgsurveying.com>

Sent:

Monday, April 26, 2021 2:01 PM

To:

Chad Williams

Subject:

RE: Thomas Camp Realignment

The estimated cost for a topographic survey showing ROW will be \$8000.00.

Thank you, Scott Daniel, PSM



Scott Daniel - Cell: (386) 208-4176 Ph: (386) 752-9019 Fax: (904) 339-9229 426 SW Commerce Drive, Suite 130-N

Lake City, FL 32025

E-mail: sdaniel@dgsurveying.com

https://www.facebook.com/DanielGoreLLC

From: Chad Williams < chad_williams@columbiacountyfla.com>

Sent: Thursday, April 22, 2021 9:07 AM

To: sdaniel dgsurveying.com <sdaniel@dgsurveying.com>

Subject: Thomas Camp Realignment

Scott

Can you give me a quote to provide a topographic survey and ROW for the attached map?

Please call with any questions.

Thanks Chad

Chad Williams, P.E. **Columbia County Engineer** P.O. Box 1529 Lake City, FL 32056-1529 386.758.1019

